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x* 1
L. 1irr11{—T|=(A)1 (B)2 (C)0(D) It does not exist.
X—> x —_

2. Let fx] be the greatest integer < x. Find linolx . { 1]= A1 B)-1 (C)0
X—=> x

(D) It does not exist.
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3. Find j: [x]dx=(A)4 (B)S (C)6(D) It does not exist.

4. [ (cosx-+cos2x+cosdx)de = (A)] (B)O(C)l+%+i—(D) 14244

5. The diagram below is a cube of side 1. Find the volume of the solid common to two

1 1 1 1
tri 1 ids 0456 and 4517. (A) — B) — (C) — D)—.
riangular pyramids an (A) T B) Y © T ( )16

6. The volume of the unit solid sphere is (A) .[_11 wlde (B) J.Ol 271~ x> dbx

©) 2 jol 2(1-x)dx (D) j‘l 21— xPdx.
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7. Find the area of the shaded region (» =sin36). (A) 3|? e rdrdf
) 0 0

®B) 3 jo? [ rarae (©) 3 jf [ ara0 @) 3 jf [ sin36drde

8.  Find the centroid of the plane region Q= {(x, y)lO <x<1,0<y<x? }

o 3 e (i) (S22 23

3 3

nSrE

o

9. If x*+y*—xy=1, find gxy— L. A1 B)2 (©LS5 (D)3
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10. If f(x) isa continuous function defined on [a,b], P= {a =X, <X <X, <

a partition of [a,b], Ax,=x,—x_,and x_, <x <x,, x_ <x <x,

then lim Z FEOVL+(x)* Ax,=(A) d22 (f(N1+x*)

maxAxAx Ax}
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If F(x,y)= f(y+2x)+g(y—2x)then (A) g;z—F(x,y)=2-%2—F(x,y)

2 2 2

(B)—F(x »)=4- %F(x DO O R, y)—g-F(xy)(D) 9 pex, y>—~§y—2—F<x,y>.
_ Oz, Oy 0%y _ _
IfF(x,y,z)=c then (ay)x (5x)z (az)y (A)1 (B)-1 (C)0 (D) 2.

If £(x)=ax’ +ax +ax’ +ax+a,, hmf(x) -1, 1 Oi@_l and f"(0)=0,

X—>®0 x x—)

then fl f(x)dx=(A)02 (B) -02 (C) 0.4 (D) —0.4.

1,if x is rational.

Let f(x) ={ ’ It follows that (A) the function f(x) is continuous at

—1,if x is irrational.

x = 0. (B) the function f(x) is continuous at x =1. (C) the function f(x) is continuous at
x =-1. (D) the function f(x) is continuous nowhere.

3
Find the arc length of the function y = f(x)=x2,x from 0 to 1. (A) J2 (B)—;—

8 13,

© = (D) — ()"

27 4

Find the interval of convergence of the power series 1+ x +21x” +31x’ +-+-

~11] B) {0} (C) (-w,®) D) (-LD)

17. Let x>0.We define Inx=(A) fox%dt (B) jlx%dr (€) fefdz (D) jo"e'dt.
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——=dx=(A)1 (B) g © = ; (D *(2” ~1)-42" -1
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19. Find the equation of the tangent plane to the surface z=x*+3* atthe point (1,1,1).
A) 2(x-D+2(y-D=(z-1D=0 B) 2(x-D+2(y-D+(z-1D)=0
(©) 3(x-D+3(y-D=(z=1)=0 (D) 3x-1)+3(y-D+(z-1)=0

20. If a>0,and the function f(x) = ax” + 2ax + b has the maximum 7 and the minimum 3 on
the interval [-1.1] then a= (A)1(B)3(C)5(D)7.
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